System Load
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@4: 50 @5: a6 85: 18 @5: 20 @5: 30 85: 48
O 1 min 0.02 Min, 0.14 Avg, 0.53 Max, 0.08 Last
B S mnin 0.07 Min, ©0.13 Avg, 0.23 Max, 0.09 Last
M 15 min 0.07 Min, 0.09 Avg, 0.13 Max, 0,08 Last
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Processes
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04: 50 05: 00 95: 18 05: 20 05: 30 05: 40
B Blocked 0.0 Min, 0.0 Avg, 0.0 Max, 0.0 Last
B Fombies 0.0 Min, 0.0 Avg, 0.0 Max, 0.0 Last
B Stopped 8.0 Min, 0.0 Avg, 3.0 Max, 3.0 Last
E Running 3.0 Min, 3.2 Avag, 8.0 Max, 3.0 Last
Bl Sleeping 106.0 Min, 107.7 Avg, 112.0 Max, 107.0 Last
W idle 0.0 Min, 0.0 Avg, 0.0 Max, 0.0 Last
W wait 12.0 Min, 12.9 Avg, 13.0 Max, 13.0 Last
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Diskspace (root)
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04: 50 @5: a0 85: 18 @5: 20 @5: 30 85: 48
[ Free nan B Min, nan B Avg, nan B Max, nan B Last
M Used nan B Min, nan B Avg, nan B Max, nan B Last
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Diskspace (dev)
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04:50 05: 00 85: 18 05: 20 05: 30 85 48
O Free nan B Min, nan B Avg, nan B Max, nan B Last
H Used nan B Min, nan B Avag, nan B Max, nan B Last
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Diskspace (etc)
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O Free nan B Min, nan B Avag, nan B Max, nan B Last
H Used nan B Min, nan B Avag, nan B Max, nan B Last
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Diskspace (mnt)
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04: 50 05: 06 05 18 05: 20 05: 30 05 40
O Free nan B Min, nan B Avag, nan B Max, nan B Last
H Used nan B Min, nan B Avag, nan B Max, nan B Last
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Diskspace (var)
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04: 50 Q53 08 25: 18 053: 20 23: 30 25 40
O Free nan B Min, nan B Avag, nan B Max, nan B Last
W Used nan B Min, nan B Avg, nan B Max, nan B Last
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Diskspace (data)
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@4: 50 @5: a6 85: 18 @5: 20 @5: 30 85: 48
O Free nan B Min, nan B Avg, nan B Max, nan B Last
H Used nan B Min, nan B Avag, nan B Max, nan B Last
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Diskspace (Volumel)
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04: 50 @5: 00 85: 18 @5: 20 @5: 30 85 48
O Free 1.6TB Min, 1.6TB Avag, 1.6TB Max, 1.6TB Last
W Used 8&7.SME Min, 991 .5ME Avg, 1.1GE Max, 1.1GE Last
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Uptime
F
120 m
188 m
1] 80 m
A 60m
'_
40 m
20 m
04: 50 05: 00 05: 18 @5: 20 05: 30 05: 40 i
O Current: 0 days 2 hours 26 mins
W Maximum: 0 days 2 hours 26 mins
L} Minimum: 0 days 2 hours 26 mins
Ul Average: 0 days 1 hours 56 mins
Total run: 0 days 0 hours 59 mins
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CPU Usage
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04: 50 05: 00 85: 18 05: 20 05: 30 85 48
O Idle 39,10 Min, 115.14 Avg, 124,54 Max, 120, 34 Last
H mMice 0.00 Min, 0,00 Avg, 0,00 Max, 0.00 Last
H User Q.00 Min, 8.07 Avg, B85.30 Max, 12.10 Last
W System Q.00 Min, 1.17 Avg, 13.50 Max, 0.90 Last
W IRG 0.36 Min, 2.62 Avg, 3.95 Max, 3.08 Last
“~
<<
>>
Swap Utilization
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04: 50 05: 00 85: 18 05: 20 05: 30 85 48
H Free 3.0 Min, 0.0 Avg, 3.0 Max, 0.0 Last
H Used 0.0 Min, 0.0 Avag, 0.0 Max, 0.0 Last
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Physical memory utilization
goaf
6.0 G
1]
i
1; 4.0 G
i
2.0 06
i 7 |
0.8 |t-
04: 50 05: 00 25: 10 05: 20 05: 30 25 40
B Free &.0G Min, &.20 Avg, &.3G Max, &.1G Last
W Active 118.2M Min, 120.8M Avg, 129, 4M Max, 122.3M Last
Ml Cache 1.1M Min, 1.1M Avag, 1.1M Max, 1.1M Last
B Inactive 1&3.3M Min, 488.6M Avg, 532.4M Max, 531.6M Last
W Wired &88.5M Min, 854, 9M Avg, 1.2G Max, S924,.0M Last
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Interface Traffic (bged)
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04: 50 05: 00 85: 18 05: 20 05: 30 85 48

Bl Rx 7.0k Min. 2.1M Avg. 72.2M Max. ca. 900.8M Total

N Tx 0.0 Min. 268.8k Avg. 16, 7M Max., ca. 113.5M Total
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Interface Traffic (1pfwd)
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04: 50 05 06 05 18 05: 20 05: 30 05 40

H Rx 0.0 Min. 0.0 Avg. 0.0 Max. ca. 0.0 Total

B T 0.0 Min. 0.0 Avg. 0.0 Max. ca. 0.0 Total
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